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1. The value of408 x 408 is
(i) 166465 (ii) 166463 (iii) 166467 (iv) 166462 (v) 166464

2 2
2. The value of10 - X100 — is
3 3
(i) 1137 (ii) 1135 (iii) 113 ! (iv) 114
i — (i — (iii —  (iv
9 9 11

3. The value of 697 X697 is
(i) 485810 (ii) 485809 (iii) 485808 (iv) 485811 (v) 485806

1 1
4. The value of49 - X49 = is
3 3
(i) 2434 (i) 2433 ’ (iii) 24335 (iv) 24337
[ i —  (iii — (v =
11 9 9

5. The value of 705 X 695 is
(i) 489978 (ii) 489976 (iii) 489972 (iv) 489975 (v) 489974

1 1
6. The value of20 — X19 - is
2 2
() 3991 (i) 4001 (i) 4001 (iv) 3991 (v) 399>
| - 1] - 11 v E A\ E
2 2 4 4 4

7. The value of69 X 61 is
(i) 4208 (ii) 4211 (iii) 4207 (iv) 4209 (v) 4210

1 1
8. The value of801§ x801§ is

8 1 1 1 1
(i) 642134 — (ii) 642135— (iii)) 642135~ (iv) 642135— (v) 642135 ——
9 7 9 3 11

9. The value 0f299 X294 is
(i) 87905 (ii) 87904 (iii) 87906 (iv) 87909 (v) 87907

1 1
10. The value of98-2 ><99-2 is
. 1 1 . 1 . 1 3
(i) 9800 (ii)) 9800 — (iii) 9801 (iv) 9801— (v) 9800
4 2 4 2 4

11. The value of 57 x45 is
(i) 2562 (ii) 2568 (iii) 2564 (iv) 2566 (v) 2565



12.

13.

14.

15.

16.

17.

18.

19.

1 1
The value of41 -3 X 38 3 is

. . 1 1 . 2
(i) 1592 (ii) 1591-3 (iii) 1591-5 (iv) 15903

The value of805 X805 is
(i) 648024

(if)

648026 (iii)

3 3
The value of 90 — X 90 — is
4 4

The value of 53 X53is
07 (iii) 2810

(i) 2808 (ii)

2 2
The value of398 3 X398 3 is

1 1 8 1 1
(i) 158935 (ii) 158935 (iii) 158934 (iv) 158935 (v) 158935
9 7 9 11 3
The value of 506 X494 is
(i) 249964 (ii) 249967 (iii) 249962 (iv) 249963 (v) 249965

28

1 1
The value oflOl-2 ><98-2 is

648025 (iv)

648023 (v) 648028

(iv) 2811 (v) 2809

, 1 1 1 3 1
(i) 9997 - (ii) 9998~ (iii) 9997 — (iv) 9997 - (v) 9998
4 4 2 4 2

The value of 71 X 73 is

. 7 . 1 11 9 9
(i) 8235 (ii) 8235 (iii) 8235 (iv) 8235 (v) 8235
16 2 16 14 1

6

(i) 5183 (ii) 5182 (iii) 5186 (iv) 5180 (v) 5184

3 1
. The value of 700 4 X700 4 is

1 3 3 1 5
(i) 490700 (if) 490700 (iii) 490700 (iv) 490700 (v) 490700
6 16 14 16 16

. The value 0of398 X 394 is

(i) 156811 (ii) 156813 (iii) 156814 (iv) 156812 (v) 156809

22.

23.

2
The value of 68 -3

3.
X 69— is
4

1 1 1 1
(i) 47902 (i) 4788-2 (iii) 4790 (iv) 4789-4 (v) 47892

The value of34 X 21 is

(i) 716

(i)

714

(iii) 713

(iv)

712

(v)

715



1 1
24. The value of51-3 X 49 4 is

() 2528 (i) 25281 (i) 2528 (iv) 2527° (v) 2528~
- I - 111 (\Y -
! 2 6 4 6 8
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